Bonpoc: «/[echexmbi 0amuuxos npueoosm Kk maxum OuUOKAM NOKA3AHUL, KAK
cucmemamuyeckull cO8ue 6cex NOKA3aHull Ha ONepeoeleHHyIo 8eIUYURY U UX NPONOPYUOHANbHOE
u3MeHeHue, m.e ygeauyeHue Uiy yMeHblueHue 8 onpeoeieHHoe Yyucio pas.» Bonpoc: kak
0O0HOBPEMEHHO MOJNCEM MEHAMb HA ONPEOeNIeHHYIO 8EIUYUUHY U NPU IMOM USMEHAMb 6
onpeoeneHHoe KoIuiecmeao pas?

Ortger: [IpencraBpre cebe nudepoIaTHBIE MEXaHUYECKUE BECHI [Tl B3BEIIMBAHUS TOBAPOB: Y
HUX BIIOJTHE MOKET OBITh OJJHOBPEMEHHO U M3MEHEHHE MMOKa3aHUH B KAKOE-TO KOJIMYECTBO pa3
(3a cueT pacTsHKEHHsI UITH CXKaTUs TPaJAyUPOBKH IIKAJIbl), U U3MEHEHHE MTOKa3aHUuH Ha
OTIpe/IeNIEHHYIO BEJIMYMHY U3-3a HAJIUUUs JOMOJHUTEIBHOIO Ipy3a Ha MIaTdopme Hin
CMELIEHUS CTPEJIKU Ha OCH.

Question: “Defects in sensors lead to such errors in readings as the systematic shift of all
readings by a certain amount and their proportional change, i.e. increase or decrease a certain
number of times.” Question: how is it possible to simultaneously shift by a certain amount and to
increase or decrease a certain number of times?

Answer: Imagine a mechanical dial scale for weighing goods to sell: is can quite easily
simultaneously change its readings a certain number of times (due to stretching or compressing
of the graduations of the scale) and shift its readings by a certain amount due to additional
weight on the platform or a shift of the pointer on the shaft.

Bonpoc: Ilocmosanna au ckopocms (no mMooyuio), ¢ KOmopou Mol 8pawaem Kopnyc?

OTBer: DT0 HEU3BECTHO.



Question: Is the speed of the case constant (by magnitude) when it is rotated?

Answer: It is unknown.

Bonpoc: /lpu cuamuu nokaszanuil axcenepomempa mvl HOBOPAUUBAEM €20 8Ce 8PEMS 8 OOHY
CMOpOHY unu pvigkamu "myoa-crooa" Ha HeKOmopom npomedcymke epemeni 00 CMeHbl
nonodicenusn? HyxcHo 1u ucnons3oeamo 6ce, 0ajice camvle HeOPOUHApHble ¢ 601bUION pasHuYyell
1O MOOYII0, NOKA3AHUSL WU UMU HYHCH NpeHeOpeub? B omeeme Ha 60npoc HYHCHO YKA3AMb
YpasHeHue, no360s10uee MaKCUMAIbHO MOYHO 80C030aMb 3A0AHHbIN MACCUE OAHHBIX?

OrtBet: 1. Cioco0 noBopaunBaHusi HeU3BecTeH. 2. Vcrnonp3oBaHUe TaHHBIX — HA YCMOTPEHUE
YYaCTHHKOB KOHKYpca. 3. B oTBeTe Ha 3a/1a4y ClIeAyeT MOCTPOUTH (POPMYITY, ONHMCHIBAIOLIYIO
MOKa3aHusl, 3HAYUMBIE JIJIs1 OTIPEIeTICHUS TPOCTPAHCTBEHHOTO MOJI0KEHUSI KOPITyca yCTPOMCTBA.

Question: When taking the accelerometer’s readings, is it rotated always in one direction or
jerked back and forth for some time till the position changes? Should we use all the readings,
including those with extraordinary differences in magnitude, or disregard them? Should the
solution to the problem contain an equation that recreates the given dataset as precisely as
possible?

Answer: 1. The method of rotation is unknown. 2. It is up to the participants of the Contest to
decide how to use the data. 3. The solution should contain a formula that describes the readings
that are meaningful for determination of the spatial orientation of the device’s case.

OTtaenbHbBIE KOMMeHTapHIi (& separate comment):
Koopnunathas cucrema XY Z Bo Bcex Cilydasix MoJipa3yMeBaeTCs OPTOTOHAIBHOM.

The XYZ coordinate system in all cases is orthogonal.

Bonpoc. Kakas nndopmanus nana B daiine *D_g.xls 1 kak 3TO OTHOCUTCSI K pELICHUIO 331a4u?

OrtBer. [Ipoexunnu Bekropa g Ha ocu KOPITYCA. T.e. 3T0 onpeaeneHus NojaoxkeHUi kopnyca, B
KOTOPBIX IPOU3BOAATCS U3MEPEHUS.

Bonpoc: Bepusl 11 Bxoanbpie ganabie? T.K. auamazoH pa3dpoca B OJHOMEPHOM CITydae
CJIMIIIKOM BCJIUK.



OtBet: C nanHbIMU BCE HOpMAIbHO. BeposATHO, BBl HEBEPHO UX MHTEPIPETUPYETE HIIN
HEIPAaBWJILHO CYUTAETE Pa3dpOC KaKOi-TO BEIIUYUHBI.




